& % AABC 7t stut= A4 EE As BF 1297

@® BC = 6em, /B = 60°, /C = 120°
@ /A =30° /B =80° /C=120°

® AB = 10cm, BC = 14cm, /B = 65°
@ AB = 9cm, AC = 12cm, /B = 45°

® AC = Tem, /A =500, /C = 40°
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® AB=7,BC=6,CA =8
@ AB=8,BC=4, /B=60°
® AB=5, /A =60°, /B =60°
@ /A =50°,/B=45°, /C = 85°

® AB=3,BC=4,CA=5



= % AABC7tStH=E AR H = As 25 1=2H?

® AB=5cm, BC=6cm, /B=80°
@ EzGcm, BC = 10cm, CA =4cm
® BC =8cm, /B =90°, /C=95°

@ AC =12cm, /A =30°, /C=50°

® /A =40° /B=50° /C=090°
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T 139 AABC= AB = AC°]1, B
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® BD =CE @ CD =BE

@ AD = AE ® BP =CP
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oh2 3o A AB = AD, /ABC = /ADE -
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@O AB=AD, AC = AE, BC =DE
@ AB=AD, AC=AE, /A= 3%
® AB = AD, /A= 3%, /ABC = /ADE
@ BC=DE, AC=AE /A= 3%

® /AE3EE, /ABC = /ADE, /ACB = /AED



